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b/ = IS 561,000 652,828 £91,88(71 B X = 0 0 0
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& 4,849,057 4,521,471 327,586 | & 4,849,057 4,521,471 327,586
& 2 0 0 Ot 8 Xt & Al & 0 0 0
2 = 0 0 0|8 3,600,000 3,500,000 100,000
7t 2 0 0 ofel 0 0 0
ol nTe e 3,125,186 3,606,401 A571,215 2| 0 0 0
nezeass 0 0 0/ of 2 0 0 0
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216-01 =30=0Ik== 59,870 27,117 32,753
1)BZ20 20 XH4=2! 59,870,000& = 59,870
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2) 4/42D] A7 700,000,000&*1.2%/12%1 = 700
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713-01  BItsXa3sle 3,001,970 3,530,850 A528,880
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e = 0 0 0|8 0 0 0
Xt 2 0 0 0| el 0 0 0
(g mm Xt g ¢) 0 0 0|21 0 0 0
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DEHEZS(HANR)SHE 2| = 7,000

7,000,000

- 107 -




CHol M)
- O] - JIRAIY - BES = OH CEX|E=o ==
NHAES 2 5,000,0008! = 5,000
1)RFID JHEAH2D1D| 7 1,600, 0002I+400CH = 640,000
AN 2,365,686 3,297,549 A931,863
|E(HE2ETH0 2,365,686 3,297,549 A931,863
S22 2,365,686 3,297,549 A931,863
oIxI2 2,365,686 3,297,549 A931,863
e 2,365,686 2,365,686 3,297,549 ~931,863
1)2016 GIXI2 2,365,686,0002! = 2,365,686
& & A 3,389,338 4,197,316 807,978

- 108 -




—
SIHASE 2016
Oll&ERb= o 20l &F
3 Z ¢ MESSEHUS 22013
| A= HE= S EHOHH W) (cHel m2)
XM o &g o
K}OH
@E% ST25|A O|I|- j|E|- =TI °I|-k| o220 ol P=T-1] !
ol =) E o) =1 == A HISAtA SAI'c cl2gH| | X2& | =23 leI‘
A@®  Hdz | BExS | [YS (OIRHE &) Ol=+= ENfe]] 40| A ® AL | AFSIH| | o=l 234 | 21I3ae | KIS : )
20104
P 7,974,672 0 0 0 0 0] 1,167,577|6,807,095| 4,780,971 4,039,398 0| 741,573 0 0 0| 3,193,701
2011E8% 560,535 0 0 0 0 0 113,099 | 447,436 391,276| 235,291 0 155,985 0 0 0 169,259
20128 % 617,150 0 0 0 0 0 120,496 | 496,654 365,19 192,209 0 172,986 0 0 0 251,955
20138 % 473,298 0 0 0 0 0 143,978 | 329,320| 545,788| 377,816 0 167,972 0 0 0| A72,490
20143 % 438,962 0 0 0 0 0 118,626 320,336| 257,039 44,900 0| 212,139 0 0 0 181,923
20158 % 379,071 0 0 0 0 0 116,477 | 262,594 1,060,424 | 839,824 0| 220,600 0 0 0| A681,353
20168 % 346,343 0 0 0 0 0 71,636| 274,707 | 1,023,652 780,367 0| 243,285 0 0 0| A677,309
Al 10,790,031 0 0 0 0 0] 1,851,8898,938,142 | 8,424,345 | 6,509,805 011,914,540 0 0 0| 2,365,686
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714 OIXI23 =+ 2,379,924 1,793,397 586,527
71401 OXIZ=l= 2,379,924 1,793,397 586,527

- 180 -




CHR )
_ SIS <
285 TN EomEu Sz & E L
T e/
1)2015 0I123 2,379,924,000& = 2,379,924
= o 8 2,589,324 2,082,097 507,227
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SAHHE -
Ol & Xb== - =2

SHFE P ASBEEIS
® XEH (Sl &2)
2R .22 .3 . U4 - JRANY - BES N HEATXSNH HwsZ

2|44} 2,589,324 2,082,007 507,227
AlZO|otobN 2,589,324 2,082,007 507,227
AZE Y SEMRL 527,645 772,645 A245,000
AZNE)|Z 22(MEIEIZ) 527,645 772,645 245,000
AIZQ|5H 22 132,915 134,539 A1,624
201 2er29H| 24,815 23,115 1,700
0l A=Y 23,615 23,615 20,715 2,900

N2 4,800

2)pIRMeIxE AxE 400,00024% 128 = 4,800

1) et 18,815

2)AZM B2 KT 10021+5Z+5,0000H = 2,500

2)AEOIH BTS2 I 50021%2Z+5000H = 500

2)0|42 2H0I31E 04 12,50024%2007 = 2,500

248 AMEE 0N 65024 +5000H = 325

2AES oYSE 0N 13,00024#6300H = 8,190

2)JRIZCE EXE HIZ 400,0002*60l = 2,400

SAIEZ ©OAI I 1| I

2)01210] J|SAIS 4OHAA EXIT K 00,0005 = 2 100

® zoouy 1,200 1,200 2,400 A1,200
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1,200

==
=

0x

[

00,0008+ 128 =

12,500
10,000

HEACX|=H

12

12,500
12,500

2,500
95,600

000
12,000

99,424
99,424

12,50021+80021 =

95,600

500
500

3,824
A3,824

50, 000215021 =

95,600

207 H7IH|

93,600

A12,100

% Ale

50, 00021+782x243] =
100, 0008%1024 =

1,000
1,000
58,950

58,950

71,050
71,050
66,050

A12,100
A7,100

100, 0008*1024 =

58,950

58,950
52,600

24,600

4,500
500

90,0002 504 =

J2HSAE N el A

no

SIEAE HH

INTS M

10,0001x500H 4 =
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0
o
o
00

XX .22 - . U2 - JRAIY - HES INE- HEEX|ENH HnE2
OIMEIE 22 04 70,00024%2800H & = 19,600
2)0HINE SAIE XIF 22l N 18,000
3)EXIB HIZ 90,0002%307H A = 2,700
S)PNE=ES[ES; 10,00024+300H 4 = 300
OIMIEIE 22 J0H 50,0002*1000H 4 = 5,000
)EHRIEY U ATY 29| 10,000,0008! = 10,000
SIS SEYA XFSE 204 . oSO < 0.000
= 1,350
NE)|228A0925| Alojsg
70,0002 x52%33| = 1,050
2)0HINE ARSIt K24
100,000R%3Z 13| = 300
W ALII0IEE A 5,0002*1,0008 = 5,000
HdX2 8K 250,000 500,000 A250,000
250,000 500,000 A250,000
S 250,000 250,000 500,000 250,000
MAAT} QIZLSR X
50,000,000 %5044 = 250,000
B 29 54,780 62,056 NT,276
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(S &)
TR .22 - M. C - JRA - HAS XEH HECX &N mE=A,
101 214d| 48,280 50,956 N2,676
04 JIZHRIREX=EEA 48,280 48,280 50,956 N2,676
1) SLA LAIAIS Q1 66,3702*3% %210 41,814
nNgss s 6,131,0002! 6,131
1)LSH 2 oyl 200,000 200
1)T=H 45,0002 %32 135
201 YEr29Y| 6,500 11,100 24,600
01 A2l 6,500 6,500 11,100 4,600
NBULHE IS DA 2 6,000
2)ME DA 29 W2H|(2BMA Y
50,0002 85| 122 4.800
JUSLM L AIRSE (YIS, M0
1000002 * 122 1,200
NAYLY S 222 AH” 5,00024% 100744 500
ARSI 31,000 5,000 26,000
307 QIZt0|HA 31,000 5,000 26,000
0 DIZIHAAIIEE 2,000 2,000 2,000 0
NESAt ZHS| 2000000 2,000
3,000 3,000 3,000 0
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fu
Jo
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ZX-22.- Y. U - JIRAY - HES XIEH HETXENH Hns2
1)2016 MSZHIQAl MBS JHE| X2
3,000,0002! = 3,000
05 DIzto|EtD 26,000 26,000 0 26,000
NA2IZE HAEY SASS=H 2 X 26,000
2)AIAIRA M| 200,00021%307} = 6,000
2)2iiel EMl 2% 20,000,0002 = 20,000
s 2,061,679 1,309,452 752,227
ERNE(AEXEID) 2,061,679 1,309,452 752,227
BNE(AEXEID) 2,061,679 1,309,452 752,227
602 0 XI2 2,061,679 1,309,452 752,227
ol ox= 2,061,679 2,061,679 1,309,452 752,227
1)2016 GIXI2 2,061,679,0008! = 2,061,679
& & A 2,589,324 2,082,007 507,227
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DlAHXIE © 2014
snE  AEXEDIZ (o )
x4 o T o
ATg DTN OIXt | DJIE ISXHY | SXHY | omsan | RY3H | 0432 g
H@ | BUB | 2ED | NUD | oo | O3 | Loy | der | MO | | Se | S | diase | dome | e | (@@
20104 kXl | 6,445,313 0| 1,369,045 0| 2,047,792 0 598,230 | 2,430,246| 5,088,157 | 1,311,275| 3,466,600 310,282 0 0 0| 1,357,156
2011E8% 990, 138 0 46,560 0 688,743 0 36,663 218,172 918,222 295,641 528,000 92,134 0 0 2,447 71,916
20128 % 1,279,203 0 46,880 0 974,009 0 54,574 203,740 575,604 192,647 250,000 127,157 0 0 5,800 703,599
20138 & 549,667 0 10,140 0 321,727 0 60,406 157,394 352,888 170,075 100,000 81,178 0 0 1,635 196,779
20143 % 419,891 0 9,435 0 229,519 0 53,389 127,548 254,219 79,025 70,000 98,609 0 0 6,585 165,672
20158 % 309,700 0 23,000 0 111,700 0 55,000 120,000 424,898 173,733 200,000 50,956 0 0 209| ~115,198
20168 % 209,400 0 0 0 37,400 0 52,000 120,000 527,645 229,365 250,000 48,280 0 0 0| ~318,245
Al 10,203,312 0| 1,505,060 0| 4,410,890 0 910,262 | 3,377,100 8,141,633| 2,451,761| 4,864,600 808,596 0 0 16,676 | 2,061,679
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T|l= 0 o |
4. tixl= 2 U&= SXl
SIHHAE 20164
Ol &FRb - =0l &
AFE - ASTEIIS
=10 = | (cre): Mg
OIXI & Oy
R GilXI (E4) A I
201418 S 2B T o 20158 T UETHH®@ 201641 T LB THH® sZ(0-@)
2R 2,495,122 2,379,924 2,061,679 ~318,245
OIXIZ =S| 2,495,122 2,379,924 2,061,679 ~318,245
foled 2,495,122 2,379,924 2,061,679 ~318,245
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